29,0) 12

¢) f(z)=+/(z—1)(z-5)
ondibions (X —=1)(Xx =5) =2 0

(De'mtmw {L —H\o[ﬁ;w dun J(ng (X~() ()( 'S)
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5

Pﬂré]oo& N
]Wﬂ [5,%%[

\/6—2:1:
— Sr+ 4

X %
(X-N(-5)

+0

d) f(z)=
Cond, Jc\oM\s )y 6—1X 20D

2) ¥ o4y #£0

1) b 2 ey J <
2X <6 -2
X< 3 \

2) X"—5x 44 =0

(x=1 Jx—=4] =0
) L

X=1 X =9 »
Do x#1 , x#9 - {H@R
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2.2.3 Déterminer 'ensemble de définition des fonctions suivantes :

a) f(z)=+vz2+z+1 b) flz)=vz—1y/z -5
&\XL+XT4_ZO
-
]KY) A~
by) =0 & XX+ = \J

() =R |
b) {X»4 > D &) {f;4

X~-5 2D X2 5

EDwa: TB)QDE




e) f(z)= f) fz)=

r—4
| X+
6.) %b%v\ﬂ A\Q_ r
X —w —1 L’ + 1P
il — |+

@ condbous: 4«X°‘7O
[1~x)1 +x] =0

Sy da (/Z —X)qM +x]
) — 1

(=) | — @+ ﬁp

s+ Tx

V1 —z?



